EaLAE] A JEI0] 9
Bix], HISE! 4hx| 2% o
=3 dY/HIE o[o] x|

3}{

© HEINRICH KIPP WERK GmbH & Co. KG

£l e AEOIR|A ARl QIEIA =
Zl CIZHE E3, 7126 LE n|Z8

53 E Zst olnt ¥ 2Ya

e

Qlela E2ixis &0 Hlo2 Qs &S 97t Hate 22 Wxlshof
ste Eofl A EILICH HISE WX| Hxls 220 #E 2E0] 9%
7h K| T2 BHLICH BET BAEO| S o2 }502 B
LIch, LIAHE BE 0| EAIE £EX| 2H 22| 605 ZAHE 3/F0|

AL

S dA HA.

WMIAME]:
AT 0| 2! KO665.
ofe Hx o oI5t 1X M|E K2146.

r

n
o M2
>ux
o 08

—_
~

www.kipp.com - info@kipp.com 1/2



[ ]
== AEI AlS Ol= AEICCX= A El L =
S2fAE A J8l0] U= A8 E= A1 A AL QIEIA 2
Eg2ld kx| al = — o — =
E._HH, H| S8 9X| x| & 22 C|SHE| £8t, 712E L E 0| =&
=
]
D2
] .
I
! SWi
N X i ]
-~ I
| 1 , '
3 | 2 | |
_\Lf \ : |
‘ I P aum |
1
X D1 1
0o . D -
Z= Qo
FEHS Et =& & D D1 D2 L L1 L2 L3 AEZ3 SwWi1 NESS Et4
S EbA =
F12EN  F29%.N
K1300.12061 A AE! 6 M12x1,5 25 49,7 20 8 17 4 14 8 14
K1300.12060 A AE 6 M12 25 49,7 20 8 17 4 14 8 14
K1300.13081 A AR 8 M16x1,5 33 66 26 10 23 6 19 20 35
K1300.13080 A AR 8 M16 33 66 26 10 23 6 19 20 35
K1300.012061 A AHQIEA AR 6 M12x1,5 25 49,7 20 8 17 4 14 8 14
K1300.012060 A AE|QIHA AE 6 M12 25 49,7 20 8 17 4 14 8 14
K1300.013081 A AE|QIY A AE 8 M16x1,5 33 66 26 10 23 6 19 20 35
K1300.013080 A AHQEA AR 8 M16 33 66 26 10 23 6 19 20 35
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



